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QUESTION 1

An engineer has designed an anchor redundancy for guest clients connecting to SSID with auto-anchor configured.
After adding a second Anchor WLC under the SSID mobility anchor list, clients are load-balanced between existing and
new anchors instead of having one anchor as active and the other one as standby. Which feature should be included in
the design that will be configured on the WLC running 8.1 or above to ensure anchor redundancy?

A. Auto-Anchor Foreign Mapping

B. AP groups

C. Guest Anchor Priority

D. 802.11r

Correct Answer: C

QUESTION 2

An engineer must perform a predictive design for a wireless network. The customer has devices that can tolerate at
most 100 ms of delay when roaming. Which design criteria must be used?

A. location
B. data

C. video
D. voice

Correct Answer: D

QUESTION 3

A wireless engineer must design mobility between two buildings at a campus site. The engineer has one controller at
each site. The engineer is investigating inter-controller CAPWAP data and control traffic. Which two ports must be
open? (Choose two.)

A. 5246

B. 5247

C. 8443

D. 16666

E. 16667
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Correct Answer: CD

QUESTION 4

A wireless engineer is using Ekahau site survey to validate that an existing wireless network is operating as expected,
which type of survey should be using to identify the end-to-end network performance?

A. GPS assisted

B. Spectrum analysis
C. Passive

D. Active ping
Correct Answer: D

Reference: https://support.ekahau.com/hc/en-us/articles/115004973067-Spectrum-Analysis-Surveys

QUESTION 5

Refer to the exhibit.

A WLC SSO pair is set up. Which failure scenario causes a split-brain scenario?
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A. RP is down.

B. Two distribution ports on the active WLC are down.
C. VSL is down.

D. One distribution port on the active WLC is down.

Correct Answer: C
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